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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

0.0009465 + 0.03115

Mean

0.2112 +0.02202

Std Dev

Underflow

Overflow

3.104e-11/0

X2 / ndf

34.7 +80.4

Constant

—0.01411+ 0.09283

Mean

0.2941+ 0.7004

Sigma

25F

2.053/45 hH

30.12 + 126

X2 / ndf

3

pO

pm1X (ppb)

corr_usr_b

1000 —




RMS (ppm)

45

40

35

30

25

20

15

10

corr_usr_bpm1X RMS (ppm)

I T 740, . 2 Y
R R L L R L e o o



N < o o o n ©o ©
2 2 S 2 8 3
S g T & & 3 ©
s 3 b s 9 ]
+ + 8 ] H Py n
0 8 B .
g 5 S S — ©
S e S -
o T =
- - .
clsg 5§ &8 3 2 & § E g
S <
sl 8 5 & %« 8§ = @& E
2 ]
=1 —«~
m -
= 7
7] f —
5 | =——— ©
—_— ey
S h
Q s
(a)] ]
— ]
7
—¢
M| ' I _________________lom
o [Te) o [Te] o n o
[32) ~N N i —
L *
n o ®
A
-~ m @
O N
SN o
;] ©O
18 —
< ®
2 B-
°
— °
©
e
~
N =] °
>=<a
o)
o
o L2
N -
> °
— o
m A
o
o)
r_ -
(7)) @
> L 4
| °
S A d
S B-
O A
(& L
°
&
@
11 _.I_|.|.|.|.|_|.|1|.||.|.|.|.|_1_______
o o o o o <TONTIOTANMSLO
& S m % cocC Scoco




RMS (ppm)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

X2 / ndf

pm1l1Y (ppb)
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1D pull distribution
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1D pull distribution
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